PHYSIOLOGY QUIZ 2 2007
1. If light simultaneously strikes both the On Center and the OFF surround in the “On center, Off surround” circuit, what happens in the ganglion cells ?

A. Nothing, they are not stimulated or inhibited.

B. “On” ganglion cells fire, “Off” ganglion cells are inhibited.

C. “Off” ganglion cells fire, “On” ganglion cells are inhibited.

D. Both “On” and “Off” ganglion cells fire.

2. Lateral inhibition ensures that:

A. Parallel circuits are stimulated as well.

B. The Zone of discharge is increased.

C. The signal to noise (S/N) ratio is increased.

D. The Zone of facilitation is increased.

3. Nystagmus is present when a subject starts spinning on a piano stool. After a while of non-stop spinning, the nystagmus stops. Why ?

A. The endolymph in the semi-circular canals starts flowing faster relative to the subjects’s spinning movement.

B. Tension on the tip links of the hair cells of the left and right semi circular canals is equal.

C. Tension on the tip links of the hair cells of the left and right semi circular canals becomes unequal.

D. The endolymph in the semicircular canals plays no part in causing nystagmus.

4. With respect to the electroencephalogram (EEG), a record which displays an increase in frequency plus an increase in amplitude:

A. Is considered to be normal.

B. Is indicative of a subject who is in deep, delta wave, sleep.

C. Indicates that the subject is alert and mentating (i.e. thinking).

D. Is considered to be indicative of a pathology.
